Sudoku Today 1-June-2025

Ten Box Sudoku [=]:
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The diagram is a toroid; some of the 3x3 regions don't end at the right (lower) edge E’*"E:!
of the diagram but continue at the left (upper) edge of the diagram. '5!-':' 3

(Solution)

© sudoku.today

Sudoku Today ( https://sudoku.today ) Newdoku ( https://newdoku.com )
Samurai Sudoku ( https://samuraisudoku.com ) Sudoku Puzzle ( https://www.sudokupuzzle.org )

https://sudoku.today/g-ten-box-sudoku/40154369343.html Page 1/1


https://sudoku.today
https://sudoku.today
https://samuraisudoku.com
https://samuraisudoku.com
https://newdoku.com
https://newdoku.com
https://www.sudokupuzzle.org
https://www.sudokupuzzle.org
http://www.tcpdf.org
http://www.tcpdf.org

